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Sexual isolation between two species can be
Asymmetrical

Which of the following is not a type of variation?
RNA level

had shaped the existing pattern of biodiversity. | speaciation 1l Mutation 1|
Extinction
I and IlI

The following are related ploymorphisms except
Speciation

Recombination can occur:
Between genes

Who favoured the ideal that morphs become fixed in a population by means of weight
drift?
Dobzhansky

According to wright the probability of a fixation of a beneficial Allele is
2s

Which of the following provide the solution to how variation is maintained in apopulation
with Mendelian inheritance?
Hardy-weinberg principles

Which of the following concepts does not trade equally well into ecological and
evolutionary theory?
Speciation

The followings are conditions for natural selection except:
Mutation
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